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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Section : Pa
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Ans X 1 g

X215
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X449
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Question ID : 3334432687
Option 1 1D : 33344310747
Option, 21D+ 33344310746
I Option 311D": 33344310745
Option 4 1D : 33344310748
Status : Answered
Chosen Option : 3
Q.2 'm' kg F=UAR A TF IH F OF T 9 qEHAm A0 F1 {9 F e WY W swShr w3 w4 10 kJ
3l 7 20 mvs um| TfE SEET TR A T 625 J o A = e A (mis #) ¥ v ¥ A9 uFer
AT AT?
Ans X 1.10

v25

X375

X425
Question ID : 3334432668
Option 11D : 33344310672
Option 2 ID : 33344310669
Option 3 1D : 33344310671
Option 4 ID : 33344310670

Status : Answered
Chosen Option : 2

93 2t arsadr AT, 10010000 3R 1111001 & &= &7 37T &
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v 110111
< 210011
< 311011
X4 11101
Question ID : 3334432677
Option 1 ID : 33344310706
Option 2 ID : 33344310707
Option 3 ID : 33344310705
Option 4 ID : 33344310708
Status : Answered
Chosen Option : 1
Q.4 ve vwERE Aer A (T & a59 75 g Bl 3§ 50 cm & fFena 9v fewrar amar }1 40 g F Uw
FEUATT F 20 cm & e 9¥ 3k 50 g F U% gewAe & 90 om & Bers 9% @ ST B SEA 20
g ¥ TF W FAAE F F W @ T T Tg A (Fhd) Tgew o Ry 7 g
Ans
X1 4 cm & Faa @
X2 96 cm & TemT 9T
V'3 46 em ¥ e OT
X 4 54 cm & T 9T
Question ID : 3334432647
Option 1 1D : 33344310586
Option 2 ID : 33344310587
Option 3 ID : 33344310588
Option 4 ID : 33344310585
Status : Not Answered

Chosen Op, ' 3 -
- I

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432651
33344310603
33344310602
33344310604
33344310601
Answered

1

yIA TEgfE s & AT & @ & s W S
Ans of 1. F 25

X2%10

X3%5

X4 3 50

Q.6 7 10,000 # TR W 10% TF T W 1 aF F fow, T Ay nAfF Tyl =F =T Fr 75
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Pﬂn 11D : 33344310753

2/52



UDY MATERIALS
de1/719070193/19070193S2D9764/1549650721609...

Option 2 ID : 33344310754
Option 3 ID : 33344310755
Option 4 ID : 33344310756
Status : Answered
Chosen Option : 1
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Q.7 37 e F1 T9F Ft, S WY aeg ¥ W TR T ¥, W TR gE e, 9@ e ¥ Fehd

Ans 71 VAL = QoL
X2 Vat = ApL
X3 VLt = AQp
2 4 VpQ = AtL

Q9 «p gfeRirar, L e 3 A T FE & &9 a1 O F v OR, O ¥ aFE A e
HEY wEIEA g €, & faER v F v Geatatas 7 @ Fi9 @ g7 w8

gl
AT AT AN 1 ?
Ans X 1. THEAC
X 2 T
v o FRTe @ FeT
X 4 Ok
Question ID : 3334432701
Option 11D : 33344310802
Option 2 ID : 33344310801
Option 3 ID : 33344310804
Option 4 ID : 33344310803
Status : Answered
Chosen Option : 2
Q8 | i .
v0.015625 x +0.0256 =
Ans X' 1. 0.004
X 2 0.002
X 3 0.04
v 4 0.02
Question'ID : 3334432697
Option 11D : 33344310788
Option 2 ID : 33344310785
| Optien 31D+ 33344310787
| Option 41D : 33344310786
Status : Not Answered
Chosen Option : --

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432639
33344310556
33344310553
33344310554
33344310555
Answered

1

Ans of 1 500 mis

Q.1 v 7g Fr 9ffy 36,000 km ¥ T I FE 3T A AL AT ¢ HR W & [ WA F 20 €1 H
0 T AT §, A IHA Ao W (equator) T FRua ww Rig A wify A
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< 2400 m/s

< 3 300 m/s

X 4 200 m/s

Question ID : 3334432669
Option 1 ID : 33344310674
Option 2 ID : 33344310673
Option 3 ID : 33344310675
Option 4 ID : 33344310676
Status : Not Answered
Chosen Option : --

Q.1 2 ;
M a5t v R A F 3o g R e
norusi T 3727 § - batwing
odusi F 3T § -batman
odzul & HFT § -superman

S FF a1 7 T # § GFF 3R wEg # 39 "superrich’ g M?
Ans X 1. ludnor

v 2 nadzul

X 3. gifod

X 4. tudusi

Question ID : 3334432706
Option 1 ID : 33344310824
Option 2 ID : 33344310823
Option 3 ID : 33344310821
| Option 4 1D : 33344310822
Status:: Not. Answered

Chosen™Optioh : --

S T 4x+ 6y =P ZERT Fe T TG T e (TE) AT

Ans 3
X2
2
2
X2 2
3
—3
xa 2
2
—2
N
3
Question ID : 3334432694
Option 1 ID : 33344310775
Option 2 ID : 33344310773
Option 3 ID : 33344310774
Option 4 ID : 33344310776
Status : Answered
Chosen Option : 3
A1 3
U ey Rfecrs T GEER F 17725 @ @ &r o

Ans «1. F—I!E'gf'l?l?l’
X 2 grEgteTT
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X3 Fala
X 4 Sfoms

Chosen Option :

Q.1 a’r?ﬁwi‘rmwamgcmﬁr?izﬂ;\ 54maﬁr3ﬂnﬁwﬁaﬂﬁ§w=mmﬂamNaﬁ
5 e ¥, wath 2 B, ot N @ ot M 7= ST §1 @ ol & A ST g 960 km & 3 2 & 8
0 AE UF GRS LA BT £ a2 B des 9 (kmihr #) A S

Question ID : 3334432630
Option 1 ID : 33344310520
Option 2 ID : 33344310518
Option 3 ID : 33344310517
Option 4 ID : 33344310519
Status : Answered
Chosen Option : 4
Q1 s ASBF 3Tt FABF mma s At BF A BHR AT A BF TR
ABFRITE &P Xx QSRS & 7w 37§
Ans

X1 P, S & AL E

V2P S AATE

X3P, S Rarg

X4P, SHITE

l Question ID : 3334432709
Option 1 ID : 33344310835
Option 2 ID : 33344310836
Option 3 ID : 33344310833
Option 4 ID : 33344310834
Status : Not Answered

Ans X 1. ?6
X272
v'3 66
X 4 80
Question ID : 3334432656
Option 1 ID : 33344310624
Option 2 ID : 33344310622
Option 3 ID : 33344310623
Option 4 ID : 33344310621
Status : Answered
Chosen Option : 4
QA1 ﬁ- %
o TR 3 TRuT vF mEd B
Ans X 1. IETAW
x 2 a‘rtrgtr
o 5 ST
X 4 FrepeT
Question ID : 3334432633
Option 1 ID : 33344310530
Option 2 ID : 33344310531
Downloaded from - .exammix.éwfan 3 1D : 33344310529
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Option 4 ID : 33344310532
Status : Answered
Chosen Option : 3
Q1 ey st 7S & IOAEw 39 FT T 6 7 ¥ AR O & daw & ¥ 16,000 Hr g gew & A
T 7z 3o 8 : 9 & ST ¥ A F S dw feer 12
Ans X 1. F 48,000
X< 2 F 64,000
« 3 F 56,000
X4 F 72,000
[ Question ID : 3334432682
Option 1 ID : 33344310726
Option 2 ID : 33344310727
Option 3 ID : 33344310725
Option 4 ID : 33344310728
Status : Answered
Chosen Option : 3
Q.1 ¢
s 3 e FT TIA FL, I 37T T &= 2
Ans x 1 EE#\
X 2 FHIE
X 3 e Fr Fer
v T
. =
Questiond. : 3334432717
Optioni1 1D,:/133344310867
Option 21D : 33344310865
Option 3 1D : 33344310868
Option 4 ID : 33344310866
| Status® Answered
| Chosen Option : 3
Q.1 : *
s @0 7 @ FiF T 959 F Ae-gcd 8?7
Ans X
. A
X 2 STETEFET
X 3 arér
v 4 G
Question ID : 3334432635
Option 1 1D : 33344310540
Option 2 ID : 33344310539
Option 3 ID : 33344310537
Option 4 1D : 33344310538
Status : Answered
Chosen Option : 4
Q.2 o i o
o cot30 — 5 X cosecH =
Ans
X1 V2
3 .
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.
K2 =
3
p g3 V2
V3
Vi
43
Question ID : 3334432695
Option 1 ID : 33344310780
Option 2 ID : 33344310778
Option 3 ID : 33344310777
Option 4 ID : 33344310779
Status : Answered
Chosen Option : 4
Q2 A4 ofie Fr T s 3R A3 efie T o ST T gar 2
Ans K19 1 1
X212
X31:4
vi1:2

Question ID : 3334432637
Option 1 1D : 33344310546
Option 2 ID : 33344310548
Option 3 ID : 33344310547
Option 4 ID : 33344310545
| Status : Answered
Chosen Option : 1

- -
= =

02.2 Th AN & Ul i waE 18 cm R 14 cm §,

X 3 giEe
X 4 gTTHT

ans X 1. 63
X 2 252
V'3 126
X 4 504
Question ID : 3334432684
Option 1 ID : 33344310736
Option 2 ID : 33344310733
Option 3 ID : 33344310735
Option 4 ID : 33344310734
Status : Answered
l Chosen Option : 3
Q.2 .
3 U faey 3=v afg gIger gomer g
Ans x 1 h é
v 2

Question ID : 3334432645
Option 1 ID : 33344310577
Downloaded from - .exammix.@tion 2 1D : 33344310579
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Option 3 ID : 33344310578
Option 4 ID : 33344310580
Status : Answered
Chosen Option : 2
Q2 _-
s Thdd @7 F 3T &
Ans
X 1. SR & A 7 s
v g 7 s
X 5 SIS HT WS 7 SHS
X+ =T 7 o1
Question ID : 3334432640
Option 1 1D : 33344310560
Option 2 ID : 33344310557
Option 3 ID : 33344310559
Option 4 1D : 33344310558
Status : Answered
Chosen Option : 4
Q.2 I, U saafes &y & wwuw Ty Ol & S e 9% W U 9% UF qeaen SR
5 yar ¥
Ans x :
I Hehfgd
VE
X 3 3T
X 4 ofrefrg
Question ID : 3334432649
Option 1 1D : 33344310596
Option 2 ID : 33344310594
| Option3/ 1D 33344310593
Option 4 ID : 33344310595
Status : Not Answered

Q2 e wgy &, Tgw goars = Twia &1 & 797 genit & TR w1 & 3 Rfer w
6 ﬁsﬁam?&ﬁrmmaﬁrﬁ:m’m ymﬂiﬁrﬁ:rm??ﬁgm?afrﬁmﬁﬁm’é
Fr FEFaT W e 2

Chosen Option :

FR AN
Ans X 1. CEl
X 2 FGH
X s EFH
v 4+ CEF

Question ID :

Option 11D :

Option 2 1D :

Option 31D :

Option 4 ID :

. Status :
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33344310842
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33344310841
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Answered
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l Chosen Option : 4

Q.2 zfy 85°C AW AT 2.5 e TH A F 4.5 Fex 32 9 F wry fFemw s § & wges A
7 T T W S A AHA 15°C T T ¢ Tg A F g A @ 7GR 8, 32 I
gRfee amAEw (°C #) A fifaw)

Ans X148
v'2 43
X315
X 4 25

Question ID : 3334432666
Option 1 1D : 33344310662
Option 2 ID : 33344310661
Option 3 ID : 33344310664
Option 4 ID : 33344310663
Status : Not Answered
Chosen Option : --

Q.2 gg ma &, 2 wueT 3R 39F T 7 e, |, 1 3 1 RE wie #1 aveEr Fue # 5 A
8 fraw Fwem ¥, s &1 3 a7 AR W A FeEt ¥ B S A g oo P awer ¥ R e
foest & & #i7 @, oy +F &, v v Fuat F 9o w1 B

T 1 : TT F@OEar S §
FUT 2 : I o Fhw e 74T

forst 1| 3 ¥ SR )
fswd 11 3o Fes S §)
sy I w3 SefEar s §)

Ans X 1. Frererforset |1l 9TereT HaT &
v 2. Ferer TSRy | OTereT 53T &

X3 gefrfses 1) 11 3 11 e e § - WAL
X4mﬁﬁsélaﬂtlllwm% -
or CompetitiveExams

Question ID : 3334432714
Option 1 ID : 33344310854
Option 2 ID : 33344310853
Option 3 ID : 33344310856
Option 4 ID : 33344310855
Status : Answered
Chosen Option : 2

Q.2 432 kJ FvaT IITE W= F TT tegEEEE § T 800 g FONEER # e e afwew 7w
¥ it farr s e e A Rftve s aier 0.9 Jg KT )
Ans 1120

V2 60

<3 875

K4 425

Question ID : 3334432658
Option 1 ID : 33344310630
Option 2 ID : 33344310629
Option 3 ID : 33344310631
Option 4 ID : 33344310632
Status : Answered
Chosen Option : 2
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v'2 216
X 3 540
X 4 B4

Ans X 1. 26
v'2 20
X 3 24
X 430

Q3 v ARTT Heamr &

2 gar ¥k x,
Ffem
OX3+4+10— 8=

Ans X113
X212
X3 30
v 11

.exammix.
ttps://cdn4.tcsion.com
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ede 71067075

Qd3 5000 kg/m® wereer 3T 10.8 N 3T arel uTg] & gohd &1 H1Get (cm® #) 7 Hfwwl (g = 10m / s2

193

+ Fr Owhe w8

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.3 e dnimdr & 7.5 ¢ & 50 km F gl 77 F 3T FS g0 4 kmhr F TF §F 5w g9 3N FO
1 2 12 kmibr & o3 & 95 @ doemdr W doaw 77 #) Yo TEET 7@ A S g

km Z

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Optionk:

+ Bl

Question ID

Option 4 ID

3334432654
33344310614
33344310613
33344310615
33344310616
Answered

2

3334432688
33344310752
33344310749
33344310751
33344310750
Answered

2

: 3334432707
Option 11D :
Option 21D :
Option 31D :

33344310825
33344310827
33344310826

: 33344310828
Status :
Chosen Option :

Answered
4

vi9
X286
<312
X415

Downloaded from
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Option 1 ID : 33344310742
Option 2 ID : 33344310744
Option 3 ID : 33344310743
Option 4 ID : 33344310741
Status : Answered
Chosen Option : 1

Q3 ffr umrard ooy F o R F A dege |, v 3918 3Ry F v fig ¥ g Fig 7%
4 rymiERE = ¥ v BT T 1 F aE @ B
Ans XK1 e

< 2. giaRer

v 3 RerEraT

4 T

Question ID : 3334432659
Option 11D : 33344310636
Option 2 ID : 33344310635
Option 3 ID : 33344310633
Option 4 ID : 33344310634
Status : Answered
Chosen Option : 3

Q3445a?a§r£ra%‘3ﬁ?ﬁﬁﬂ3#rma:mﬂmﬁmm@m%°

v 11275
X2 1155
X3 1355
X4 1475

Question ID : 3334432699

Option 11D : 33344310796
Option 2 ID : 33344310794
| Option 3.1D*: 33344310793
' Option 4 ID : 33344310795
Status : Answered
Chosen Option : 1

Q.3 v =mmrdr ¥ 8,000 & 200 kg ¥ATS WiEaT ¥ 9fEEa & NI W HATS & 4% frEwr A5 @ v
6 3 20% s AT = ¥ P S O A A B FRT HIE T AT SR

v 1. ¥ 50/kg
X 2 ¥ 48/kg
X 3 F 45/kg
X 4. F Bd/kg

Question ID : 3334432691
Option 1 ID : 33344310763
Option 2 ID : 33344310761
Option 3 ID : 33344310762
Option 4 ID : 33344310764
Status : Answered
Chosen Option : 1

Q.3 &= s=d F a9 4, 5 T 11 eEne § BRfld & ¢ #lF @, o a0 F B off goew =
7 feiems # Fa 39 7 @ T 27

Ans
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v 117
X215
X316
X420
Question ID : 3334432724
Option 1 ID : 33344310896
Option 2 ID : 33344310893
Option 3 ID : 33344310894
Option 4 ID : 33344310895
Status : Answered
Chosen Option : 1

Q.3 15 0 Fr ST gfady 97 & F v R 0 3K 20 0 F o ot gEwe &8 F SeT a4 B
R & A #a s

| Chosen Option :

CEAFI T, FTRTAITT FTRACFFETFMTIT 2 _ |

A 1 F, Ewrufyd

Ans X 1. 50
X2 30
X3 40
v 4 60

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

3334432660

33344310640
33344310638
33344310639

33344310637
Answered
4

COMm

. Option21D:
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i e~ 1t 2131 F1ara L a1 039
X2 F, E®#r qﬁﬁfﬁ? LOMPpEe fitive Exams
X3F Ewrfarg
X4F EmTaeng
Question ID : 3334432710
Option 1 ID : 33344310840
Option 2 ID : 33344310839
Option 3 ID : 33344310838
Option 4 ID : 33344310837
Status : Answered
l Chosen Option : 1
Q4 faft i 3 &, w9rew (3Fa) Faw & T ¥, FatH Fate (Grete) Frew # 10 a3 #
Famee (F5A) TR & vew 16 T9 & e wnferd (Fieian) w40 semt gwer §
Ane K1 32
<215
v 25
<4 8
Question ID : 3334432643
Option 1 ID : 33344310570
33344310571
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Option 3 ID : 33344310572
Option 4 ID : 33344310569
Status : Not Answered
Chosen Option : --

Q1-4 U O S pha @ ISR UF 3189 3UeUT €1 S 39ANT e Fhie 9T faar s

Ans x.]_ ‘}ﬁ'ﬂ'
V@ RETE
X o geww
X+

Question ID : 3334432675
Option 1 1D : 33344310698
Option 2 ID : 33344310700
Option 3 ID : 33344310699
Option 4 ID : 33344310697
Status : Answered

Chosen Option : 4

‘& g ot F oo T wa Al
—34,—-27,—2,—13,—06,7
Ans XK 1..0.8
X202
V'3 0.1
x40

— — — — - o o o —_————

Question ID : 3334432704
Option 11D : 33344310814
Option 2 ID : 33344310813
| Option‘3'ID,: 33344310816
| Option 4 ID : 33344310815
Status : Answered
Chosen Option : 3

Q4 gfe 'F' N &1 9T o 25 kg FeTA & TF qad H 15 m
aF UFeT ST 8, afy =7 ufeear & fFar emar e 480 J g,

ar F &7 \A17 717 fifaw)

Ans X116
v 32
X3 25
X 4 50

Question ID : 3334432642
Option 1 1D : 33344310567
Option 2 ID : 33344310565
Option 3 ID : 33344310566
Option 4 1D : 33344310568
Status : Answered
Chosen Option : 2
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ad TR Pm s R srT R ad @ F T R s I A g f
Ans x 1 %*
X2 g
v fadsw
X4 qr
Question ID :
Option 1 ID
Option 2D :
Option 3 ID
Option 4 ID :

Q.4 g3 F @Udr F FUT, TH THFESH I AT WHET = #r 9/10 = ¥ et ¥ A 2:28 pm &
T 2:34 pm W IgA §| FHA B wwmm s oF S ar

Status :
Chosen Option :

v 1 1:34 pm
X<21:36 pm
<3 1:40 pm
X4 1:32 pm
Question ID :
Option 1 ID
Option 21D :
| Option 31D :
Option 4 ID :
Status :
Chosen®Option :
Y afg a+b=9 AR o+ ph=53, T ab, F, WS 7 FET
v 1 14
X220
X3 8
X418
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432650

: 33344310600

33344310599

: 33344310598

33344310597
Not Answered

3334432665

1 33344310657

33344310659
33344310658
33344310660
Answered

1

3334432693
33344310769

1 33344310770

33344310771
33344310772
Answered

1

Q.4 i o wEA WE &, I F9aET A AT B F 6 I FT o1 (I 9T H) Sr vw ¥ sH oo a9t F
7 2w Fwh B AR A & T i F deE b

.\\‘ "/..//“
Ans 1.3 :7
<27:3
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X3 Jq:8
X48:7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432721
33344310883
33344310881
33344310884
33344310882
Not Answered

Q4 o # 9ff TWE F | TS W TF UG F TS F HBTT FeaA 60 gm Wed @ gl AR 5 Uy
8 ¥ w2 w1 T weT 25 @, A SEE TEAEE FEE (gm ) A D

Ans X 1. 300
X 2 40
< 3400
v 4100
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :
Qé4 AT AE F e, AT T ZE FAEr T F Ao U = Froger

g, Trmd 100-100 3=t & 6 939w 4| afe F3Y &t wea9s C # 25% +H
st gaay A F 10 3% 3w e e, A& 38 e & i # g A

il R
]

Ans of 1.16.67%
X2 10%

X 3 12.25%
X 4 15%

J N e T R 3 Sl o P AT O
ror Competitive Exams

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

| Chosen Option :

: 3334432664

33344310655

: 33344310654

33344310656

: 33344310653

Not Answered

.COm

3334432720
33344310878
33344310879
33344310877
33344310880
Not Answered

Q5 3 & fflee Fvar wiftar 125 Jkg' 'K &) Iy 7 & 2509 & TF TH @R SkJ FOAT FEifT R
0 ST % =g IHHT J9AA 10°C GEaT 8, & SHHT FOAT uiiar 7 Hifaw)

Ans X 1. 250 JkgT'K!
< 2325 Jkg 'K
v 3 500 JK!
<4200 JK™
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Option 3 ID : 33344310626
Option 4 ID : 33344310627
Status : Not Answered
Chosen Option : --

VCaTaa25% =b § G 160 F b% ET g
Ars 1 aF 40% F

X2a%50%®

X3 a®x60%F

X4a®x80%H

Question ID : 3334432683
Option 1 1D : 33344310731
Option 2 ID : 33344310730
Option 3 ID : 33344310729
Option 4 ID : 33344310732
Status : Answered
Chosen Option : 1

02-5 PRfafRs # @ g @ i vF e deesw A9 78 ¢ S Sy 9fEde & FRer @ R

e X1 e sdsEas
X2 F@rda
X 3. FHEA AAIFAES
v i FAETH HTFEES

Question 1D,:13334432673

Option 1'ID : 33344310690

Option 2 ID : 33344310691

Option 3 ID : 33344310689
| Option4ID* 33344310692
| Status : Answered

Chosen Option : 2

Q.5 =7 foRer Yo F 397 I e AifS, SR gaTer 50% & R W X 100 N # W e S
3 gy 250 N &7 & T &N

Ans 1k
X225
X310
X475

Question ID : 3334432663
Option 1 ID : 33344310650
Option 2 ID : 33344310649
Option 3 ID : 33344310652
Option 4 1D : 33344310651
Status : Not Answered
Chosen Option : --

045 14 cm F¥=TT 91 U o F F IF TS5 F ATG 2200 cm? ¥, A THA FAE (cm FH) 7 Al

Ans X 1. BO
v'2 48
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6 = famr oA

Ans 1. 7583
X 2 3274
Vs 9123

-

=
o

7 & wnrmy weata o ge §2

Hocke: creet] U=60
[5)
oy

Foolball

Ans X4 7
X238
v'3 15
X 4 51
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X 49283 ‘5 ov

Downloaded from -

Chosen Option :

Q.5 uF AT Fewmr 7, STOLE F' 39468 3T RICH Fr 5271 for@m Aar &1 3% Fewmw #, o=g THIS

- XAMLS

Question ID

Q.5 Ror 7 37 AW UF FET F 39 o7 o HEwm F7 Afe §, 5 ow Rew @ dew ¥ s o g

X< 3 49

X 4 56
Question ID : 3334432685
Option 11D : 33344310737
Option 2 ID : 33344310739
Option 3 ID : 33344310740
Option 4 ID : 33344310738

Status : Answered
Chosen Option : 2
Q:::mmﬁmﬁanm,mahéw%m? & gfwrs & B e F)
Ans x 1 nﬁ *

X 2 HgFd T AR

X 3. FaTeT

v
Question ID : 3334432626
Option 1 1D : 33344310504
Option 2 ID : 33344310502
Option 3 1D : 33344310503
Option 4 ID : 33344310501

Status : Answered

1

: 3334432705
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

33344310820
33344310817
33344310819
33344310818
Answered

3

Question ID : 3334432712

. Option 11D : 33344310847
.exammix.com
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Option 2 ID : 33344310846
Option 3 ID : 33344310845
Option 4 ID : 33344310848
Status : Answered
Chosen Option : 3

% ae | R #r == ¢

Question ID : 3334432652
Option 11D : 33344310608
Option 2 ID : 33344310606
Option 3 ID : 33344310607
Option 4 ID : 33344310605
Status : Answered
Chosen Option : 3

Q.5 vw Fuw 3t 37F =€ & Ty B v #1 w5 F Rr v Tt F @ F#9 @ R oo wuw
9 Iy afrE T ¥ 9T T 3

FYUF : TOECATIYT A T A §| FoAR F WA 2 H ToE F T F Ao T
FHAFT FTE B

s | T & siew $ uEe & gur @9
B | w0 g X el Wegu & Adega B Se AT

A T ar o | 3R A A | e & g
X2 frswy | 3 11, 3t oo R g

X 3 Faer FeHy. | g HTaT 2

X ¢ Faw frse¥ || areieT AT

Question ID : 3334432725
Option 1 1D : 33344310899
Option 2 ID : 33344310900
Option 3 ID : 33344310897
Option 4 ID : 33344310898
Status : Not Answered
Chosen Option : --

?%mmm(upL) 2018 % wgee & I QR Bvw & & @y et
MV aeRTEE g

X > Hag sEEw

X 5. PITHAT ABE T

X4 e e deTeiR

Question ID : 3334432632
Option 1 ID : 33344310528
Option 2 ID : 33344310527
Option 3 ID : 33344310526
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Option 4 ID :

Status

Chosen Option :

907ODQ382DAQ\7 51 IAé

33344310525

: Answered

1

LS
965072169...

* AT (U TEA 413 F AT TSAN TEAT FT g7
Ans X 1100111111
X 2110110111
v 3110011101
# 4111001001

Option 1 ID

Status

1.4, 9, X 12, 14, 15 3k 16 & ATew 10 §1 Fgorw AT Hfewl
Ans x111

L

- — e ———— - —

Q.6 mmﬁmm oo, T R T SR A e A SRR S e Ew T
3 amwEw R P

e X1 @fzms
v 2 TERTEE
X 3 FEs
X 4 e

Option 1 ID

Option 3 ID

Chosen Option :

Question ID :
: 33344310704
Option 21D :
Option 31D :
Option 41D :

X212
Vs
X410
Question ID :
| Option 11D :
Option2 ID
Optién 34D :
Option 4 ID
Status :

Chosen Option-;

Question ID :
: 33344310688
Option 2 ID :

3334432676

33344310702
33344310701
33344310703

. Answered
Chosen Option :

3

3334432696
33344310783

1133344310784

33344310781

1 33344310782

Answered
3

3334432672

33344310686

1 33344310685
Option 4 ID :
Status :

33344310687
Not Answered

Czﬁ 30 RBEeT 1 T9a w, S S o ¥ 36 TR Taig 8, O YR g U, e e ¥ warg
2l
afrer : Farardrer o ferE 2

v gerETET
/X 2. e
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VISIT
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Option 3 ID

Question ID :
Option 11D :
Option 21D :

Option 4 ID :
Status :
Chosen Option :

3334432702
33344310806
33344310808
: 33344310805
33344310807
Answered

1

Q.6 v gewr Fdar Tl awg #1486 & a5 § 3K 8w o FAWT 1 IR TN 3w IEg A M4 F

Status :
Chosen Option :

S dmamam @
Ans X1 4% gife
X2 12% gri=
V'3 8% grfer
X 4 10% g
Question ID :
| Option 1 ID
Option 2 ID :
Option 3 ID
Option 41D :
Status
Chosen Option :
% T ¥ Hie @ s & 9 a9 g Tl Fgerrar gl
v ' Gl ()
X 2 FHrare
X3 FolT
X 4 =T (BIA)
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID

3334432690

1 33344310758

33344310757

1 33344310759

33344310760

: Answered

3

1 3334432674

33344310696

1 33344310693

33344310694

1 33344310695

Answered
1

Qf%;ammﬁﬁa#wmﬁmﬁﬂsﬁmaaﬁ#ﬁmgﬁmﬁﬁl

Till a few years back, | used

X-used to intermingle with literature and humanism

Y-to admire at the great and insightful language used in
Z-some of the judgments of the higher judiciary, where law

ans K1 ZYX
V2 YZX
X3 XZY
X4 YXZ
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Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

3334432722
33344310885
33344310886
: 33344310887
33344310888
: Not Answered

Ans

X ' o & U9k FHAR H HEIAT i & @0
X 2 areyaAT ¥ T I A R

X3 HoT v W F FAd F FH FA & T
v 2, FER 3R FIF & T i & v

Q.6 vw Fuw 3t 3wF =g & EuRETH | AT 1| & wE ¥ Her Fua T BeT A 2T R w5 §
8 @ & 3 s A W A A ¥ e ol A & e e s § R & s smuomst # @
Fh @ R v Fww & Afm
FUS : RS F AT AT FIA T O F FH AL e AT
IR
I. O FFTSH I-AN Afar AE F
II. TR FEEE0T, O & Vi F 4gW aRT F A=0T T A4 8
Ans
X1 ar sunor | Ak F & 1 AT E
X 2. Faar g || AfET &
X 3. aer guror | AfgT &
v 4 | 3T 11, @t o AT §
[_ Question ID : 3334432719
Option 1 ID : 33344310875
Option 2 ID : 33344310874
Option 3 ID : 33344310873
Option 4 ID : 33344310876

Status

QG TS, mﬁaa;ﬁ’rﬁ-am Wmmﬁmwmm?rmﬁ#mw

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 41D :
Status

Chosen Option :

: Not Answered
Chosen Option :

1 33344310665

: 33344310668

: Answered

3334432667

33344310667

33344310666

4

V 48 31k 54 7 Fgraw wEER Wa AT

Ans X 1. 342
X 2 234
V'3 432
< 4144

Downloaded from -

Question ID : 3334432681
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Option 3 ID : 33344310724
Option 4 ID : 33344310723
Status : Answered
Chosen Option : 3
Q.7 T FRFRT # ARt # R Far § dR 58 TER s e g (DNA) &
1 e ogem &
Ans N

X1 S A

v 2 e BT

X 3 FRRIEET

X 4 FIAGFT AT

a3
Question ID : 3334432644
Option 1 ID : 33344310574
Option 2 ID : 33344310575
Option 3 ID : 33344310573
Option 4 1D : 33344310576
Status : Not Answered
Chosen Option : --

Ans X 1. 8
v23
X3 20
X412
Question ID :/3334432708
Optitn 19D : 33344310829
Option 2 ID : 33344310831
Option 3 ID : 33344310830
Option 4, ID; 33344310832
Status': Answered
Chosen Option : 2
Q?;" T g1 g3 e A §, S S5 A waw § weEeT oA @ ¥
A w
" X1 =gdiee
T
X 2 geT AT
2
X 3. IS (SR
v ogae
Question ID : 3334432648
Option 1 ID : 33344310591
Option 2 ID : 33344310592
Option 3 ID : 33344310590
Option 4 ID : 33344310589
Status : Not Answered
Chosen Option : ==
Q7 Sx 5{3 Aax 5
4 g = (24 =)=F A XTI &
2z 3 A2 3 6
Ans o 1.12
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X2 4
X33
X 46
Question ID : 3334432692
Option 1 ID : 33344310768
Option 2 ID : 33344310767
Option 3 ID : 33344310766
Option 4 ID : 33344310765
Status : Answered
Chosen Option : 1
Q5;7 500 kg FEOHATA TN TH FR A Al Mo T 64 kJ F FEA T (m/s F) 7T A
ans X 1. 32
V216
X3 64
X 4 48
Question ID : 3334432655
Option 11D : 33344310617
Option 2 ID : 33344310618
Option 3 ID : 33344310619
Option 4 1D : 33344310620
Status : Not Answered

FA T

for them.

Ans of 1. BDAC
X 2 DBAC
X 3 BDCA
X 4 DBCA

Patty the milkmaid had just finished milking her cow and had two full pails of fresh creamy milk.
A-'Once | get the money, I'll buy a chicken’, she thought.

B-She put both pails on a stick and set off to the market to sell her pails of milk.

C-This chicken will lay teng-pfreggs.
D-Along the way she started talt

Chosen Option :

Q.7 zw A # R 710 A7, T FH A O W, TF GEIA A0S G §] TodF A FOTH F6H A
6 afe o g1 TF TEIT ATE08 T ¥ T BT T Reed # ¥ T T SEnd S

Question ID :

Option 1 ID

Option 3 ID

Status
Chosen Option :

.COITI

K o QLA e bl & 5V sl el TV

3334432723

: 33344310891
Option 21D :

33344310890

1 33344310889
Option 4 ID :

33344310892

: Not Answered

Ans 1 9
<21
X33
<44

Q.7 vs uq & Fdewar 50% ¥ o8 20 Bae # 2 o aE @ 60 Hewr FA A% @er Wehar gl 99 @
7 e ofea (kW ) sra S
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Question ID : 3334432636
Option 1 ID : 33344310541
Option 2 ID : 33344310542
Option 3 ID : 33344310543
Option 4 ID : 33344310544
Status : Answered
Chosen Option : 3
Q.7 :
s 3H e HHE &1 =1 &, S 37 ¥ & gl
v 1. TQN
X< 2 DGJ
X 3 NQT
X 4 EHK
Question ID : 3334432716
Option 1 ID : 33344310862
Option 2 ID : 33344310861
Option 3 ID : 33344310863
Option 4 ID : 33344310864
Status : Answered
Chosen Option : 1
Q.7 25 kn iRy T TF AT W 125 Vasrﬁsmmmﬁa%wmwwﬁ#ﬁﬁ?aﬁaﬁrﬁ@?
9 umr (mA #) 715 HifaT)
Ans x 1. 5
X202
X3 2
v 405
Question ID : 3334432662
Option 1 ID : 33344310645
Option 2 ID : 33344310646
} Option 3 IDy: 33344310648
Option 4 ID : 33344310647
Status : Answered
Chosen Option : 4
Q.8 Sewnmw #F v REwesuw U= 3Zavde (IBRD) 3t st 29adc vafdwes (IDA) #T&% ar
0 wrumt & B0 doree & onfAe R amw 32
Ans x 1.
HAWTET  FfttsT #5a (International Chamber of Commerce)
X2
Ha@rserg &g 91F (International Finance Corporation)
v 3 93 dF (The World Bank)
r
aqaq‘r@'zr Hel FI¥ (The International Monetary Fund)
Question ID : 3334432627
Option 1 ID : 33344310508
Option 2 ID : 33344310507
Option 3 ID : 33344310506
Option 4 ID : 33344310505
Status : Answered
.Chosen Option : 2
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Q.8 ww =afFa 39 Yo & 2/78 FER Hr THET FA T F AH W T §1 A9 IS F /3T &

1 wdfrae s qF & a7 W aa § R AW adh g8 o sl e e A svreave a3 §) AR
Sels O # 97 F REy ¥ 239 REy & awEr oF 9o @i § 3 9o s O 1 7 2,00,000 e E
A 3w = # g GN Pree O

Ans 1. 15,75,000
X 2. % 10,50,000
X 3. % 8,60,000
v+ % 12,60,000

Question ID : 3334432680
Option 1 1D : 33344310718
Option 2 ID : 33344310717
Option 3 ID : 33344310719
Option 4 ID : 33344310720
Status : Answered
Chosen Option : 4

Q.8 (0.1 x 0.1 x 0.1 + 0.04 x 0.04 x 0.04)+(0.2 x 0.2 x 0.2 + 0.08 x 0.08 x 0.08) =
2

v 1 0.125
X 2 0.025
X3 0.02
X 4 0.08

Question ID : 3334432679
| Option 1 ID : 33344310716
Option 21D : 33344310715
Option/3 ID :/133344310713
Optién 44D : 33344310714
Status : Answered
Chosen Option : 1

- —_—

|"
Tir
il
i
il
n‘
lln
in
I
il
i

% 1996ﬁaﬁr%ﬁmmmmaﬁmﬂﬁmﬁﬁmﬂ
Ans x1_wm

X 2 @rraer Hfd
v 3 3ae Afger
X 4 3AH 9= AT
Question ID : 3334432628
Option 11D : 33344310511
Option 2 ID : 33344310509
Option 3 ID : 33344310510
Option 4 ID : 33344310512
Status : Not Answered
Chosen Option : --
Q-8 g0 kg FEmm= ¥ vw R F FAE A W ¥R 222 N | FE W IRESEE =0T (m /82 #) 7
4 S
Ave X1 4.9
<2 13.32
73198
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Question ID : 3334432646
Option 1 ID : 33344310582
Option 2 ID : 33344310581
Option 3 ID : 33344310584
Option 4 ID : 33344310583
Status : Answered
Chosen Option : 4
Q.8 e Rser et Reeerat o FET ¥ @F 3R Rew & 7 km o §, R afvew @ 3w gs ¥ sl e
5 km = ﬁwaﬁmaﬁrmm%mz km e ¥, ﬁwmﬁmm%ms km et
g e s Es g AR5 kmaat-fr%\ Mﬁmmmammw#
Ans :
X1 3 km ofgaH &
X 2 3 km ':i“é' H
X3 9 km ':i“é' H
v4 9 km 9f¥=EH H
Question ID : 3334432718
Option 1 1D : 33344310870
| Option 2 ID : 33344310872
Option 3 ID : 33344310869
Option 4 ID : 33344310871
Status : Answered
Chosen Option : 4
® _200° AfcTTg = BAGIST
Ans X 1. ?3-
X2 7%
X3 397
v 328
Question ID : 3334432670
Option 1 1D : 33344310679
Option 2 ID : 33344310678
Option 3 ID : 33344310677
Option 4 ID : 33344310680
Status : Answered
Chosen Option : 4
Q_,-8 1.6 TOH & TF HI F 0.8 V e | sy&ang &= & &5 7 73 (5@ &) 7 fifem
Ans x 1. 2
X205
X 3 256
v 128
Question ID : 3334432661
Option 1 ID : 33344310641
Option 2 ID : 33344310642
Option 3 ID : 33344310644
Option 4 1D : 33344310643
Status : Answered
Chosen Option : 4
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anaga:ﬁmﬂaﬁrﬁﬁwgﬁrmzs Jg' g oz S ww
e 0 AR, 327°C. W FAA W, 2116 J FAT JFd

FAT ¢, df 36 TH3 F FIAN AT DT

Ans X 1 g2
~< 2. 600
X 3460
v 92

Question ID : 3334432638
Option 1 1D : 33344310552
Option 2 ID : 33344310550
Option 3 ID : 33344310549
Option 4 1D : 33344310551
Status : Not Answered
Chosen Option : --

% 3w R # 9O FY, S e A ¥ B A

Ans

F )

& o
- =
-

L Gf

X2

-nnil
v |

el B

i
ﬁ ]

3 [FH

m

Question ID : 3334432715
Option 1 1D : 33344310859
Option 2 ID : 33344310858
Option 3 ID : 33344310857
Option 4 ID : 33344310860
Status : Not Answered
Chosen Option : ==

Q9 Trafafea wem &, T & Fa T Fe, AfFF 7T T AT & T W W F @ FEW, F9 JE A
0 R e st 7 few T & F97ae ¥ @ OC F ¢ F FH F 1@ T

C ax_Za CZ XC_a
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v < bybyb

Question ID : 3334432703
Option 1 ID : 33344310812
Option 2 ID : 33344310810
Option 3 ID : 33344310809
Option 4 ID : 33344310811
Status : Answered
Chosen Option : 4

Q.9 T WA #, & Fua d#R 39F @ o e, | 3l Il RE e §) aee s B wew e ge Rew
1w, s & 3 3\ dt W o et @ e vde @ € H9er o s ¥ B Ru ae et
# @ wl m, ofE #8 @, B v Fua & e w1 g

Fue 1 : wehr 92, =0
FuF 2 : Tl =i, o3

= | 57 59 72 E
ot I T =i 32 §

Ane X . Fae e || gre AT
Xegar| ik T& Il ao 7 A &
X 3 Faer ey | oo FRaT ¥
vl 3R I, @ g R §

Question ID : 3334432713
Option 1 1D : 33344310850
Option 2 ID : 33344310852
Option 3 ID : 33344310849
| Option 4 ID : 33344310851
Statts.: Answered
Chosen Optiony:'4

%gmﬁﬁﬁ#mwwa?smﬁmqﬁmsqlgmﬁ?
Ans x.]_#r_mu

X 2 wF ufgw & Sar (e 3)

X3 glar (71 H)

v o g% 33 F RES (3sE )

Question ID : 3334432671
Option 1 ID : 33344310681
Option 2 ID : 33344310684
Option 3 ID : 33344310683
Option 4 ID : 33344310682
Status : Answered
Chosen Option : 4

Qé9 TR v iR R & v e 908 e g % & a| Waw 32

Ans x 1 }'ﬁmartﬁr
X 2 T FerAE
v o 3 sitEer
< 4 T AN
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

3334432629

33344310515
33344310513
33344310516
33344310514

Status : Answered
Chosen Option : 2

Q.9 5 3¢ vgw, Mg & Toar H g, IFA F 3G F 8 TN o 5 A AE, VgF F e Fr 3y @ e
4 & g TS 10: 3 @M JeA F T AT FM E?

Ans 4. 15 =%
X2 gay
V'3 10 a§
X412 3§

Question ID : 3334432698
Option 1 ID : 33344310792
Option 2 ID : 33344310790
Option 3 ID : 33344310789
Option 4 1D : 33344310791
Status : Answered
i Chosen Option : 3

Q.9 2 cm fy=ar 3T 0.05 cm ArET$ T vF W & BEd & g2 (gm F) FE $iew (89 F gae
19.3 gmiem® ©)

Ans X 1.0.03
X 2 0.06
vz 12.1
X461

Question ID : 3334432641
! Option 11D 33344310562
| Option 2 ID : 33344310563
Option 3 ID : 33344310564
Option 4 ID : 33344310561
Status : Not Answered
Chosen Option : --

S T weiae SR FEfeEe R aeg I ¥ wEfud 2

Ans s
r R0 HeaT
W o rgd
2
3. g
X3 TR
< 4 agelr
Question ID : 3334432634
Option 1 ID : 33344310534
Option 2 ID : 33344310533
Option 3 ID : 33344310535
Option 4 ID : 33344310536
Status : Not Answered
Chosen Option : --
Q.9
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Ty @ 5T o §, 8 & 7 92 3k 30 e & 8y St X & A A few)
Ans X1~ 8

V25
X310
X49

7 o9 A TF & F7 X 92 F 9T TFaT §1 57 B 5% 15 U F WEr FT TFT 81 o I =Y v

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

LR —
X2 Tgs aF
v meafaa T
X 4 TRgaTy &R

S T & 9 Ry g # uae gaieE A 32
Ans  f =
X 2 9RT
X 3 oir

X 4 grar

% T gHiRee vsdd % GEY ofy & OEe F A FaEvl

Question ID

Question ID

Option 2 ID

Option 4 ID

Chosen Option :

3334432700
33344310799
33344310798
33344310797
33344310800
Answered

2

: 3334432631
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

ChosemOption :

33344310521
33344310523
33344310524
33344310522
Not'/Answered

: 3334432653
Option 11D :

33344310610

1 33344310609
Option 31D :

33344310612

: 33344310611
Status :

Answered

4

ans of 110
X226
X3 8
X412

A1 12— 20%of (42 X 5+15 — 18 X 10+ 15 + 8) =
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Option 2 ID

Option 4 ID

AR PR ARG
Option 11D :

Option 31D :

Status :
Chosen Option :

33344310710
: 33344310712
33344310711
: 33344310709
Answered

1

' e ¥ FT a1 vaSE (LED) TR 7 F AT &7
Ans X 1. ardr HEEEOT (U IE) F AT

v 2 EMI T g Jreir &fa &7 AT

K3
3T BT (Vp) = Raa 53 vagdr (LED) 7 sffoees 29 & s=rer

X 4 TersEr (LED) & T2 o 9T &3

Question ID
| Option 2 ID

Option 4 ID

Q.2 500 KHz smafer & fverer & T smas er $ #ard e @ & =i 2 @9 e o et &

: 3334432762
Option 11D :

33344311046

: 33344311048
Option 31D :

33344311045

1 33344311047
Status :
Chosen Option :

Not Answered

Downloaded from - .exammix.com

F wdr foweT T
Ans 2 1.100 m
v 2 600 m
X3 1 Km
X4 6 Km
Question ID : 3334432744
Option 1 ID : 33344310976
Option 2 ID : 33344310975
Option 3 ID : 33344310974
Option 4 ID : 33344310973
Status : Answered
Chosen Option : 2
Q.3 h é ﬂ ff
Ans
v 1. 3BTYE e, FAIE dAees ¥ AHUF g g
A LY
X 2 3TBTIE TS, SAYC Ao § FA Far g
K 5. HTFTYE Alees Y g gl
X 4. 3BEYE AL, SAYE Aeeo & T g gl
Question ID : 3334432779
Option 1 ID : 33344311114
Option 2 ID : 33344311115
Option 3 ID : 33344311116
Option 4 ID : 33344311113
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Status : Answered
Chosen Option : 1

Q4 = 555 IC F v Al agHT (TRAW AEEAEaR) F ¥ F gfow B I §) af & e
23 T A A F g, A BT T F STARNA AT (STE ) F1 g

v 20%

< 2 50%

X 3 30%

<4 10%
Question ID : 3334432737
Option 1 ID : 33344310946
Option 2 ID : 33344310947
Option 3 ID : 33344310948
Option 4 1D : 33344310945

Status : Answered
Chosen Option : 2
Q5 _: :
TEhrT HHYT AR gfaesor # e FA FAT 2

Ans X 1. RfSreer mwediaeT A
X 2 dromeadr 39eor J
v 3 TAHES IgEIOT A
X 4 THTHT (CRO)

| Question ID : 3334432774
Option 14D, : 33344314095
Option'2 ID,:133344311093
Option 31D : 33344311094
Option 4 ID : 33344311096

Status : Answered

ChosenOption 3

|

Q.6 2fawsr =T 4096 ¥ THE EEETRAS e T T BT AT FEweSt 7 39O =F 9T
oty

v 1. 1,000
X< 2 FOO
#< 3 F100
X 4 1F0

Question ID : 3334432731
Option 1 ID : 33344310923
Option 2 ID : 33344310922
Option 3 ID : 33344310924
Option 4 ID : 33344310921
Status : Answered
Chosen Option : 1

Q7 e / wiew S ¥ R PeaRiw § ¥ B Fawex F1 ST R S 3
Ans X 1. RJB7
v 2 RJ11
< 3 RJ32

<4 RJ 45 Downloaded from - www.exammix.com
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Chosen Option : --

Question ID : 3334432742
Option 1 ID : 33344310965
Option 2 ID : 33344310968
Option 3 ID : 33344310967
Option 4 ID : 33344310966
Status : Not Answered

® TRIAC, ¥ THEET BT £
A X1 Aol 3 ar s

X 2 HoMEA H 3 & THHEHT (SCR)|
v TAWE HH H 3 & TEAHT (SCR)
X+ AR ®H A 3 aF s

Chosen Option : 3

Q.9 is used to describe the information about the hue and saturation of a colour.

Ans X 1. Luminance
« 2. Chrominance
/< 3. Phesphorescence

/X 4. Sharpness

Chosen Option : 1

Q1 iy fo e P @ TR AR & a7E R @ T
v mq‘\éﬂ?ﬁ‘ﬂ{m H 3ece TFTARIT o9 2T gl
X 2. 37¢ TEEER F AT gEfeg FEr T S TeRar g
X 3 3T HTBEIE Aot 3o AT B

X 4. 3T HT3EYE FAfaamar 39 gl g

Question ID : 3334432780
Option 1 1D : 33344311117
Option 2 ID : 33344311118
Option 3 ID : 33344311120
Option 4 ID : 33344311119
Status : Answered

' QuestionD": 3334432764
Option 11D : 33344311053
Option 2 ID : 33344311054
Option 3 ID : 33344311056
Option 4 ID : 33344311055
Status : Answered

Chosen Option : 2
Downloaded from - www.exammix.com

Question ID : 3334432797
Option 1 1D : 33344311186
Option 2 ID : 33344311187
Option 3 ID : 33344311185
Option 4 ID : 33344311188
Status : Answered
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Q.1 180 Coulombs of charge passes in a given time *t" through a wire of | ohm when connected to a 3 V DC supply.
1 Identify the value of “t” from the options given.

Ans o 1. | minute
& 2. 1.5 minutes
2 3. 0.5 minutes
& 4 2 minutes

Option 1 ID

Status

02-1 Which system allows the entire bandwidth to be available to each user at the same time?

Ans of 1. CDMA

%! @rarRan (CRO) & @it (AC) FuferT AIS &I 39T F:7F:

A o1 g BT A e v (AC), e o, T
X 2
A B 9T T (AC) 3t @l (DC) feawr 21| & Tha £

X g Bree W B o fewe Rwd w8 & ¥
X 4. g\ B W Faa g4 (DC) favae 2@ ¥a &

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 21D :
Option 31D :
Option 4 ID :

Chosen Option :

X 2 CSMA
X 3. FDMA
X 4 GSM
p
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
| Status

3334432792

: 33344311166
33344311167
33344311165
33344311168
: Answered

1

3334432759

: 33344311036

33344311034

: 33344311035

33344311033

: Answered
Chosen Option :

i,

3334432778

: 33344311109

33344311111

1 33344311112

33344311110
Answered
1

041 Refractive Index of the medium is the ratio of

Ans X1-

Velocity of light in the medium to the Velocity of light in the vacuum

" )

Velocity of light in the vacuum to the velocity of light in the medium
/< 3. Velocity of light in water to the velocity of light in air

Downloaded from - www.exammix.com
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r

Velocity of light in the water to the velocity of light in the vacuum

Question ID : 3334432776
Option 1 ID : 33344311102
Option 2 ID : 33344311101
Option 3 ID : 33344311103
Option 4 ID : 33344311104
Status : Answered
Chosen Option : 4

Q1 gos1 A g A T AT " F R e § ¥ 50 F 3y W & Far §
5

Ans 1 MOV Rp, direct
v 2 MOV R, #data
X s MOV direct, Ry
X 4+ MOV A, Ry

Question ID : 3334432748
Option 1 1D : 33344310990
Option 2 ID : 33344310991
Option 3 ID : 33344310992
Option 4 1D : 33344310989
Status : Not Answered
Chosen Option : --

Q.1 2,000 Amps =¥ 359 aRTHT F B, FEEET § ¥ B IR F g wEE s fe e §2
6

Ars X 1. LRCwgs
v 2 HRC-org=

X 3. TETE FeA FOA
X 4 ATEEE /AR & o= L2

Question ID : 3334432739
Option 1 1D : 33344310956
Option 2 ID : 33344310955
Option 3 ID : 33344310954
Option 4 ID : 33344310953
Status : Answered
Chosen Option : 3

Q7.1 T & ¥ 59 ool (FRE%RR) & AT @ 9 e & HERTwdr g £
MK IO T R el (B 39 B WEER)
X 2 -l qOT T Rsewlt (T-0 o 39 WEEHN)

X 3. 3T T EeTHET (BTF 39 EEwE)
o 4
T T Efe-3rEE Esea (T 37 Z-3EE )

Question ID : 3334432790
Option 1 1D : 33344311159

. Option 2 ID : 33344311160
Downloaded from - .exammix.com
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Option 3 ID : 33344311157
Option 4 ID : 33344311158
Status : Answered
Chosen Option : 4

% T § ¥ MC #ex B Rea = smuia B2
Ans X.]a a a\f

X2 d@m o

X3 3R

v 4 R Sees o

Question ID : 3334432728
Option 1 1D : 33344310912
Option 2 ID : 33344310911
Option 3 ID : 33344310909
Option 4 ID : 33344310910
Status : Answered
Chosen Option : 4

°9'1 Power loss in a transformer is known as the

Ans x1_

difference of voltage between the secondary and the primary coils.

7% 2. addition of power in the secondarv and the primary coils.

53

difference of current between the secondary and the primary coils.

v g

difference’of power between the primary and the secondary colls.

Question ID : 3334432769
! Option 1 ID* 33344311074
Option 2 ID : 33344311076
Option 3 ID : 33344311075
Option 4 ID : 33344311073
Status : Answered
Chosen Option : 4

de How many dual purpose ports are there in the 8051 microcontroller?

Ans X1_
X23
S
v &3

(S

N

Question ID : 3334432747
Option 1 ID : 33344310986
Option 2 ID : 33344310987
Option 3 ID : 33344310985
Option 4 ID : 33344310988
Status : Answered
Chosen Option : 2

°1-2 ffafea & @ 9 @ 9wy SMPS smsege & f=or i safy &ar 2

Ans
1. q'ﬁ-q'ir .
X . PFC Downloaded from - www.exammix.com
https://cdn4.tcsion.com///per/g22/pub/1907/touchstone/AssessmentQPHTMLMode1//19070193/19070193S2D9764/15496507216909294/441...  36/52




arts2019” 1! | R O o R s o cRetone Ao P TNT A T0b7D 65T do7toTossSbob 7 84685072169,

X 2 greest THeE aigy
v 3 PWM 9iraer
X 4 EMI freeT gitayr

Question ID : 3334432755
Option 1 ID : 33344311020
Option 2 ID : 33344311018
Option 3 ID : 33344311019
Option 4 ID : 33344311017
Status : Not Answered
Chosen Option : --

Q2-2 Which of the following modulation techniques uses two carriers?
Ans  of 1. QAM
X 2 ASK
X 3. FSK
X 4 TDM

Question ID : 3334432746
| Option 1 1D : 33344310984
Option 2 ID : 33344310981
Option 3 ID : 33344310982
Option 4 ID : 33344310983
Status : Answered
Chosen Option : 1

— —_—

U Voo & +5v I TTL oiee & AHe & dfes &% #47 87
Ans x1_
dfes 0 % T - 0.3 ¥ 0.3 V 3R affeish 1 & BT 2.8 V & Ve d%
K2
a0 F faw ofadE VP #Ed €% fvloW@ e a6
W 3
dafeF 0F BT oTosvikaeFE 1S BT2V E Voo 75
K4
deF 0F T -01F06ViIRAwF1FRAT17V A Vee TF

Question ID : 3334432729
Option 1 ID : 33344310916
Option 2 ID : 33344310914
Option 3 ID : 33344310913
Option 4 ID : 33344310915
Status : Not Answered
Chosen Option : --

042 2w fekit F wEEER s (Feete) # S e w R sy s g
Ans x1. Q‘Lﬂ'

v 2. gfare A FT T

K o gt SfeRet F uEEe F S

X 4 9TareT AT & CUCl
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Question ID : 3334432773
Option 1 ID : 33344311092
Option 2 ID : 33344311089
Option 3 ID : 33344311091
Option 4 ID : 33344311090
Status : Answered
Chosen Option : 2

Q.2 Incomputers, some area in the memory is reserved for high speed operations and storing frequently used instructions.
5 What is the name of this type of memory?

Ans X 1. Flash
X 2. SRAM
v 3 Cache
7% 4 Northbridge

Question ID : 3334432795
Option 1 1D : 33344311177
Option 2 ID : 33344311179
Option 3 ID : 33344311178
Option 4 1D : 33344311180
Status : Answered
Chosen Option : 3

2 Which of the following statements is true for Bi Colour LEDs?

Ans X1_

A special dopant is used for producing two eolours in one LED

X2

Two different colour LEDs are connected in series in the reverse direction

K3

Two different-.colour LEDs are connected in series in the same direction

« 4 Two different colour LEDs are connected in inverse parallel

} Question 1D,: 3334432726
| Option 1 ID : 33344310901
Option 2 ID : 33344310904
Option 3 ID : 33344310902
Option 4 ID : 33344310903
Status : Not Answered
Chosen Option : --

Q7-2 T F JHalE Sfe0 73 F4 g Afgwl AT v v fwedt § ¥ e qew SRor & g
Exdl

v s8 oy ¥ gfay Fr wefEa A8 Far iRl
X 2 W FeIAT FAgr =T

X o 58 oty & il 1 &7 w5 T

X4 T A YET AT MR

Question ID : 3334432789
Option 11D : 33344311153
Option 2 ID : 33344311154
Option 3 ID : 33344311155
Option 4 1D : 33344311156
Status : Answered
Chosen Option : 1

= | Al £ H
oovvrmoaucua o VVVVVV. CATAATITTIITALCUOTTI
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SIC 74LS138 wH _ ZI
K1 8 fae watwen ()

X 2. 8 TS Hedltolaal

V'3 8 TTEa S ceaY

X 4 8 T usT (W)

% 2GHz fowae, frw smafea e & 2
Ans X 1. EHF

X2 VHF

v 2 UHF

X 4 HF

0

Ans 1. RTD

< 2. Strain Gauge
/X 3. Thermostat
« 4 Thermocouple

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
ChosenOption :

Q.3 Which one of the following sensors produces a voltage output upon sensing temperature?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432732
33344310926
33344310927
33344310928
33344310925

: Not Answered

3334432743
33344310972
33344310970
33344310971
33344310969
Answered

3

3334432749
33344310996
33344310993
33344310994
33344310995
Answered

4

1 %3 ofne Eow o= A
Ans of 1 D
<28
X3 4
<420

Q.3 sor Arex Fr geww (FwwE) 7T 1000 RPM #1 afy swdr areaiis guie (2w = 980 RPM

Question ID :

Downloaded from - lev.exammix.wmn 11D : 33344310957
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Option 2 ID : 33344310959
Option 3 ID : 33344310958
Option 4 ID : 33344310960
Status : Answered
Chosen Option : 1

S TEES (FET) = &
Ane X1 urr frfaE saeRoT
v 2 grees TR Iueor
X s ufea Tafya syetor
X 4 g 3T Sees TEta 3T

Question ID : 3334432771
Option 11D : 33344311081
Option 2 ID : 33344311082
Option 3 ID : 33344311084
Option 4 ID : 33344311083
Status : Answered
Chosen Option : 2

Q.3 F7 B X Twe =R & 39T et (3-Fw) e a9 AT F oy B I §, & oo
3 (@) e sea & R s 22

A X g S, R meR it R S A
v 2 gger TR, [T S Jis
X 3. uger gea, T ERAE
X 4 oger Ty, B g it T =R A

Question ID : 3334432741
Option 1 1D : 33344310962
| Option2 ID: 33344310963
Option 3 ID : 33344310964
Option 4 1D : 33344310961
Status : Not Answered
Chosen Option : --

% dFERfREe 9= 100 & HAISD HFes & &
Ans o 1. 400
X 2 200
2 3 600
< 4 300

Question ID : 3334432800
Option 1 ID : 33344311199
Option 2 ID : 33344311197
Option 3 ID : 33344311200
Option 4 ID : 33344311198
Status : Answered
Chosen Option : 1

Qé3 Which one of the gates mentioned below works as *parity checker’?

Ans X' 1. NAND

Downloaded from - www.exammix.com
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Downloaded from - www.exammighemnPeption :

X< 2 OR
v 3. Ex-OR
X 4. AND
Question ID : 3334432730
Option 1 ID : 33344310919
Option 2 ID : 33344310918
Option 3 ID : 33344310920
Option 4 ID : 33344310917
Status : Answered
Chosen Option : 3
Qé3 What is the purpose of using bypass diodes in the series connected solar panels?
Ans X 1. To increase the resistance of shaded cells
7% 2. To redirect light for shaded cells
X 3. Increasing the current through shaded cells
v 4 Protection of shaded cells
Question ID : 3334432758
Option 1 ID : 33344311029
{ Option 2 ID : 33344311030
Option 3 ID : 33344311032
Option 4 ID : 33344311031
Status : Answered
Chosen Option : 4
Q.,'3 The deflecting torque in a Moving-Iron meter is
Ans o 1. proportional to the square of the current
X 2. inversely proportional to square of the current
7% 3. proportional to the square of the voltage
: o yy . i XYL )02
X 4 inversely propértional td ﬁ.}EfmﬂeﬁI
Question ID : 3334432768
Option 1 ID : 33344311070
Option 2 ID : 33344311071
Option 3 ID : 33344311069
Option 4 ID : 33344311072
Status : Answered
Chosen Option : 1
Qé3 Which among the following is NOT the function of an Operating System?
Ans X 1. Memory Management
/< 2. File Management
« 3. Data Analysis
/< 4. Device Management
Question ID : 3334432791
Option 1 ID : 33344311162
Option 2 ID : 33344311161
Option 3 ID : 33344311164
Option 4 ID : 33344311163
Status : Answered

1
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Q.3 The emitter of which of the below mentioned transistors has electrons as the majority carriers?
9

Q.4 1uF,2uFm3uF#mﬁm(#ﬁmmﬁs_ﬁ§v§\wﬁm%ﬁvﬂﬁrméﬁr
0 :
OEEE F I

A X1 ge Tl o MR Jetsr T B

V2 e TUIRT R T e w3

X 3 el TUTT 3HeeT-37e1eT HTI9T TEeid &4 ¢l

X 4 g guillT & 2 gaied a9 aelr orr @ g

Q1-4 What is the typical frequeRcy{and type.of mémfih&w uséd in af IR Remoté control folTV2

Ans (1. 98.1 MHz, AM
v 2 38 KHz, PCM
< 3. 108.1 KHz, FM
X 4 98 KHZ, PM

Question ID
Option 2 ID

Option 4 ID

Ans X 1. PNP
X 2. PNPN
v 3. NPN
< 4 N Channel
Question ID
Option 11D :
Option 2 ID
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

Question ID :

Option 11D :

| Option 21D :
Option 34D, :

Option'4 1D,

Status :

Chosen Option :

: 3334432796

33344311181

: 33344311183

33344311182
33344311184
Answered

3

3334432793
33344311170
33344311169
33344311172
33344311171
Answered

2

: 3334432784
Option 11D :

33344311133

1 33344311136
Option 31D :

33344311134

: 33344311135
Status :
Chosen Option :

Not Answered

Q.4 Which of the following is used with LED lamps to focus its entire lighting output in one direction?
2

Ans 5 1. Parabolized Aluminum Refractor
< 2. Aluminum Panels

« 3. Parabolized Aluminum Reflector
2 4 Aluminum Channels

Downloaded from
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Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

33344311044
33344311041
33344311043
33344311042

Not Answered

Q.4 An Op Amp has a Gain Bandwidth Product of 1 MHz. At what frequency will the gain of this Op Amp be equal to
3 unity? Identify from the options given below.

Ans X 1. 10 MHz

X 2. 10 KHz
X 3. 100 KHz
o 4 1,000 KHz
Question ID : 3334432735
Option 11D : 33344310940
Option 2 ID : 33344310937
Option 3 ID : 33344310938
Option 4 ID : 33344310939
Status : Answered
Chosen Option : 4
Q.4 : s ¥
s Ae@a 7 ¥ TV sov &g feedr I3 S0 399 g 22
Ans X 1. VLF
v 2 UHF
X3 HF
X 4 ULF
11 11 h A s r..."-ﬁ-ﬂ I l_-|'|
Questidh ID:(3334432765 |
Option 14D : 33344311059
Option 2 ID : 33344311057
Option 3 ID : 33344311058
' B s o . . #T" . . Option4ID : 33344311060
Uy ooymrnnetlittivre v rd$dac
F u J ] 4 : ¥ 3 ' J: : L L6 L .i" i 2 AL I'Status': Answered
Chosen Option : 3
Q5;4 In which type of network topology computers are connected to a centralised Hub/ switch
Ans o 1 Star Topology
7% 2. Bus Topology
/X 3. Mesh topology
/X 4. Ring Topology
Question ID : 3334432775
Option 1 ID : 33344311098
Option 2 ID : 33344311100
Option 3 ID : 33344311099
Option 4 ID : 33344311097
Status : Answered
Chosen Option : 1

Q.4 The present state of the output of an SR flip flop is HIGH. If both its inputs become LOW, what would be the new state
6 ofthe outpur?

Ans J1_ HIGH
X2 LOW
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/< 3. Unpredictable
X 4 Toggling

Question ID : 3334432799
Option 1 ID : 33344311194
Option 2 ID : 33344311193
Option 3 ID : 33344311196
Option 4 ID : 33344311195
Status : Answered
Chosen Option : 1

Q_,-4 The number of input lines in a common BCD to seven segment decoder is

Ans x1_ 2
X238
<316
v 4

Question ID : 3334432753
Option 1 1D : 33344311009
Option 2 ID : 33344311011
Option 3 ID : 33344311012
I Option 4 ID : 33344311010
Status : Answered
Chosen Option : 4

Q4 AM fowawr & ags (FREv) @ ofFa (a=w) 1,000 @€ §) 3y Avgaers @1 9foea 80 @, ar s
8 amsdz & wfm () Rt B

Ans X' 1. 800 a1

v'2 160 3@

X 3 320 1€

X 4 640 d1E

A A1I-S
Question ID : 3334432745
Option 1 ID : 33344310977
Option 2 ID : 33344310980
Option 3 ID : 33344310979
Option 4 ID : 33344310978
Status : Answered
Chosen Option : 2
U RVS 7 R st A9 F s * F7 & off =T S B
Ans « 1 % ﬁ a

X 2. #¥FaH AT

X 3 gk et

X 4 gHTET AT
Question ID : 3334432767
Option 1 ID : 33344311066
Option 2 ID : 33344311067
Option 3 ID : 33344311065
Option 4 ID : 33344311068

Status : Answered
Chosen Option : 1
Downioaded fromm - www.exammix.com
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Q.5 When the LED lights need a range of voltages to operate, which of the following drivers is best suited for the job?

1
Ans 3 1. Constant Frequency

/< 2. Constant Voltage
7% 3. Constant Impedance

« 4. Constant Current

Question ID

Option 11D :

Option 21D :

| Option 31D :
Option 44D, :

Status_:

Chosen Option :

Qé‘r’ Which of the following is NOT a type of Optoceupler?
Ans X 1. Photo SCR type

/< 2. Photo Transistor type

/< 3. Photo TRIAC type

« 4 Photo Resistor type

Question ID :
Option 1 ID
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status

Chosen Option :

Ans i
16 T
V212 ge
Xsgge
K424 g
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432757
33344311026
33344311027
33344311028
33344311025
Answered

2

: 3334432786

33344311144
33344311143
33344311141
33344314142
Not/Answered

3334432727

1 33344310906

33344310907
33344310905
33344310908

: Not Answered

Q3-5 If a JK FF toggles more than once during one clock cycle, it is called
Ans x 1. Piﬂgiﬂg

+ 2 Racing

/3. Spiking

/< 4. Bouncing

Downloaded from - m.exammix.com
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Question ID : 3334432733
Option 1 ID : 33344310930
Option 2 ID : 33344310932
Option 3 ID : 33344310931
Option 4 ID : 33344310929
Status : Answered
Chosen Option : 2

Q5 Online UPS requires

Ans 5 1. Only inverter
/< 2. Only rectifier
7% 3. Only battery

« 4 Both rectifier and inverter

Question ID : 3334432756
Option 1 ID : 33344311022
Option 2 ID : 33344311021
Option 3 ID : 33344311024
Option 4 ID : 33344311023
Status : Answered
Chosen Option : 4

—

|r
||

Q5-5 A R v Reest & ¥ O R F B aEeTe: 5geE A B et & ggee S

Ans X' 1. SCR
X 2 DIAC
v s TRIAC
X 4 SCS

Question ID : 3334432798
Option 11D : 33344311189
Option 2 ID : 33344311191
| Option'3 ID,: 33344311190

Option 4 ID : 33344311192
Status : Answered
Chosen Option : 3

Qé5 Which type of proximity sensor is not suitable for detecting *Glass Bottles™?
Ans 1. Photoelectric type

« 2 Inductive type

7% 3. Capacitive type

75 4. Ultrasonic type

Question ID : 3334432750
Option 1 ID : 33344310999
Option 2 ID : 33344310997
Option 3 ID : 33344310998
Option 4 ID : 33344311000
Status : Not Answered
Chosen Option : --

Q.5 =7 sEnRE T (FE 9EE) F R (fe-dw) 71 w4 g, S dee m9 1274
7 aree &2 Rw v fwest ¥ TE RweT & ggae A

Ans X110 V .
Downloaded from - www.exammix.com
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X220V
X330V
v 40V
Question ID : 3334432783
Option 1 ID : 33344311129
Option 2 ID : 33344311130
Option 3 ID : 33344311131
Option 4 ID : 33344311132
Status : Answered
Chosen Option : 4
Q.5 Tencells, each of 2 volts emfand 1 ohm internal resistance are connected in series. What is the current flowing through
g aresistance of 10 ohms connected across this combination of cells?
Ans of 11 A
X 2 10 mA
X3 1mA
X 4. 100 mA
Question ID : 3334432794
Option 11D : 33344311176
| Option 2 ID : 33344311174
Option 3 ID : 33344311173
Option 4 ID : 33344311175
Status : Answered
Chosen Option : 1
Qg'"’ Proximity sensors are used to
Ans X 1. Measure strain
' 2. Detectnon-magnetie-but conductive materials
X 3. Measure distance
/< 4. Measure tefjperaiie
Question ID : 3334432781
Option 1 ID : 33344311122
Option 2 ID : 33344311121
Option 3 ID : 33344311123
Option 4 ID : 33344311124
Status : Answered
Chosen Option : 3
st Which one of the following can be used to test the characteristics of an OFC?
Ans 3 1. OFCM (Optical Fiber Communication Module)
/< 2. DTDR (Digital Time Domain Reflectometer)
+ 3. OTDR (Optical Time Domain Reflectometer)
X 4. OTMM (Optical Transceiver Monitoring Module)
Question ID : 3334432751
Option 1 ID : 33344311004
Option 2 ID : 33344311001
Option 3 ID : 33344311003
Option 4 ID : 33344311002
Status : Not Answered
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Ans 1. BT (FireWire)
X 2 EAHS (DVI)
v s TEETANE (HDMI)
X 4 THIMSEMS (MIDI)

Question ID
Option 2 ID

Option 4 ID

Q.6 Inmobile phones, when a user puts the phone to his / her ears, the screen goes off. Which is the sensor used for this?

2

Ans X' 1. Motion sensor

7% 2. Vibration sensor
X 3. Temperature sensor

« 4 Proximity sensor

o — —

°3'6 Identify the WRONG statement from the options given below.

Ans o 1. CFLs are used for backlighting the LCD screen of LED TV,
/< 2. InLED TV, the LEDs can be placed on the edges too.

7% 3. Both LCD and LED TVs use an LCD screen for display.

7% 4 LEDs are used for backlighting the LCD screen of LED TV.

QuestiopsB. :
Optioni1 ID,:
Option 21D :
Option 31D :
Option 4 ID :
Status™

Chosen Option :

: 3334432785
Option 11D :

33344311137

: 33344311140
Option 31D :

33344311139

: 33344311138
Status :
Chosen Option :

Not Answered

3334432787
33344311147
33344311145
33344311148
33344311146
Answered

4

Option 2 ID

Option 4 ID

Question ID :
Option 11D :

3334432763
33344311050

: 33344311049
Option 3D :

33344311052

: 33344311051
Status :
Chosen Option :

Not Answered

Qf Which of the following is NOT a type of trigger in Digital Storage Oscilloscope?

Ans X 1. Edge

X 2. Pulse Width
X 3. Tevel
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« 4 Video

Question ID : 3334432738
Option 1 ID : 33344310950
Option 2 ID : 33344310951
Option 3 ID : 33344310949
Option 4 ID : 33344310952
Status : Answered
Chosen Option : 4

Q.6 v FWEHT F MUfAF dee 200 dee § AT IfEEATF ST 50 e ¥ oY g FEer

5 st (2o H w100 ¥, @ o e # www (o) B wwr #nfr| fm T Ree @
T frweT $r wgae #:1
Ans X1 200 V
X 2 800 V
V'3 400 V
X 4100 V
Question ID : 3334432788
Option 1 1D : 33344311151
Option 2 1D : 33344311149
Option 3 ID : 33344311150
Option 4 ID : 33344311152
Status : Answered
Chosen Option : 3
Qés Optical Time Domain Reflectometer is used to measure:
Ans 5 1. Wavelength
/X 2. Dispersionin optical fibre ™ rm
1 1 - ad = !ibJ :{‘u-ﬂ' !l I
' 3. Loss in optical communication
/X 4. Eye Pattern
oY CLompe i LLIVE—=X4FS —

Question ID : 3334432777
Option 11D : 33344311108
Option 2 ID : 33344311106
Option 3 ID : 33344311105
Option 4 ID : 33344311107
Status : Not Answered
Chosen Option : --

Q.6 Why is the transformer of an SMPS smaller in size when compared to a transformer in a Linear Power Supply of similar
7 rating?

Ans X 1. Because of higher efficiency
« 2. Because of HF operation

75 3. Because of smaller currents
75 4. Because of lower PF

Question ID : 3334432754
Option 11D : 33344311016
Option 2 ID : 33344311015
Option 3 ID : 33344311014
Option 4 1D : 33344311013
Status : Not Answered
Chosen Option : --
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Ans X 1. ¢ Sofr TR
v 2 B Sofr TETeieRT
# 3 AB Ao TETRTIT
X4 A Sot eI

Question ID : 3334432770
Option 1 ID : 33344311080
Option 2 ID : 33344311079
Option 3 ID : 33344311078
Option 4 ID : 33344311077
Status : Answered
Chosen Option : 2

Q.6 Inan Op Amp integrator circuit, what is done to limit the gain at ‘Low Frequencies’?
9

Ans X 1. A large resistor is connected in series with the input.
/X 2. A small capacitor is connected in series with the input.
W 3. A large resistor is connected across the feedback capacitor.

/X 4. A large capacitor is connected across the output.

Question ID : 3334432736
Option 1 ID : 33344310942
Option 2 ID : 33344310944
Option 3 ID : 33344310943
Option 4 ID : 33344310941
Status':Not/Answered
Chosen:Option: ==

Q.7 Which one of the following can be used as a photo detector in Fiber Optic Communication?
0

Ans X 1. LASER Diode
X 2 1ED

« 3. PIN Diode

& 4. Tunnel diode

Question ID : 3334432752
Option 1 1D : 33344311008
Option 2 ID : 33344311007
Option 3 ID : 33344311005
Option 4 ID : 33344311006
Status : Answered
Chosen Option : 1

" FraTse WA 7 ATFAET For F T ggFT frres F gl aaw
Ans 1. 108 MHz
X 299 MHz
V'3 26 MHz
X 4 55 MHz

Question ID : 3334432760

Option 1 ID : 33344311037
Downloaded from - .exammix.com
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Chosen Option :
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Option 2 ID : 33344311038
Option 3 ID : 33344311039
Option 4 ID : 33344311040
Status : Not Answered

" 8051 ATSHRCIOT & AN 3T A F FER FAT §7?
v 128 Tr=ed

%7 In the full-wave Rectifier, relation between peak value and rms value is:
v Y, =V2i,,
X2 =3,
K3 Vo= V4L,
= V120 s

X 2. 256 9EcH
X 31,024 sI=<H
X 4 2,048 SEcH
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3334432782
33344311126
33344311125
33344311127
33344311128
Not Answered

Downloaded from - www.exammix.com

Question ID : 3334432772
Option 1 ID : 33344311086
| Option2 1D 33344311085
Option 3 ID : 33344311087
Option 4 ID : 33344311088
Status : Answered
Chosen Option : 1
7 A LCR meter is used to measure
Ans 1. Voltage
X 2. Current
X< 3. Power
« 4 Inductance
Question ID : 3334432766
Option 11D : 33344311061
Option 2 ID : 33344311062
Option 3 ID : 33344311063
Option 4 ID : 33344311064
Status : Answered
Chosen Option : 4
Q.7 s MOD 12 F3ex a1 ¥ 0 aaegs Teg warat $r gear HIGERASCRCET i)
5 s a=F T @ @ A
Ans X 1. 3
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X286
v 4
X445

Question ID : 3334432734
Option 1 ID : 33344310933
Option 2 ID : 33344310936
Option 3 ID : 33344310934
Option 4 ID : 33344310935
Status : Answered
Chosen Option : 3
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